
 
 
France - Czech Republic:  France’s attack facing the Czech Republic’s 3:2:1 defence 

 

 

The centre back crosses with the right back on the side away from the pivot position. 

 

RB moves to the centre back position with the ball. 



 
 

 

 

RB passes to LB in front of the pivot position (3 offensive players and 2 defence players) 



 
 

 

 



 
 

 

The pivot makes a correct block to the benefit of LB. 

 

  



 
 
The left back passes the ball to the free-standing pivot.  

 

 


